LRk

#1

G | LREER 2 HI A4 FK e O HIE
ait

— [BHIR

= Ml kTR

= |&REMRERZETRE

W |heEs TR

R (SR IE

A |KERFIE




BFITIERRR

%2
G5 TR 4 | MR g au
B—#a: BRIE

—  |BEIR

1 | bKEE

© |(BELe
T m 5766. 78
+T5 95 m 5353. 02
De 160 £ 4 & m 40. 00

@ |[BHEEM
PE1002¢De160 /K% (1. 25Mpa) m 2586
FEEMN % 3.00
2R % 10. 00

2 | FERERIFE (DHH=1. 5%2. 2m) 213 1
LI m 0.00
+T5 55 m? 0.00
JR - E9TF m? 2.41
10%7K e+ 52 m3 1.45
BLFEC20M JERAR m? 0. 82
MI1OHFIIA% S35k m’ 0.09
MO J e isi m® 2.98
MIORPIR A AT (2cm/E) m2 11. 05
TICc25m - Pl m? 0. 04
W ZDNTO0RR SR8k I s (FAY) E3 1
CRELR t 0.01
AHER 4 m® 0. 86




B TIERRR

%2

G5 TR 4 wlr | MR g s

3 |EE JRE 25
BN
T m 0. 67
JF Iy sk m? 2.24
g5 m* 0. 60
PLFRC20 TR AH I m? 0.19
AHER 45 m* 0.19

4 |BEKRE
B m 800. 00
ZxHE m? 300. 00

- |&EE 223 1
LI m 23.52
+ 755 m’ 15. 02
R F5 m? 27. 30
PLHRC254N it 2 T A m? 8.51
LFEC207R 1 1T m? 12. 60
PLFEC20%R kK m? 2.10
AR 1 22 t 0. 85
AL m? 21. 11
1y 28 2Rt VR L i 1
2z Wik dn & & m? 2.24
W 2 Wit 45 & 421 m? 3. 36
B i bR CErBRiR H@z HATEW NG 5 L 00
AR AR ED




MERERRETEFTRR

3
B G & M oo
95 eSS P | R
Bt | AR &3 TR

B HBERERRZELR
— |RWIRE

JKFE100WQ100-60-37 (EHLML. AHENHHE & 2

HEZAR il 1

ARHIAE (72 6 55KWAR AT 3% ) il 1

PLCIZEMEFbIME (Bt THIEALKEE] W 1

AR, . FHLAPP 1= 1

EALERS = 2

WA A 35 =) 1

HL I AR I A = 2

(Rl =) 5

DN300 H1.2; ] &) = 1

DN150 H12); 7] &) = 3

DN150F=ZhHE7K Ii] = 2

DN150% B =X F i & 1 = 1

DN150 £ Ty e i A 1

DN150 7K i A m 10

YJV-3%35+1#25H1 45 m 50

3%25+ 1163} /7 .4 m 30

350+2525 Hu 1 A5 HL 45 m | 100

Y JV—3a4 Hiy 1 F 25 m 100

PVVP251 J3# i L 25 m 20

Nt

B 7.75%
97

B B R PR A B L RS (100m°/h) =3 1

Ny

Bk 7.75%




EREMRERRERIIEFER

ER79S&

FAT

e

B o)

B | R

B 9%

F=M0: SREWRERZRTE

Ry L

SRMRICAE (I E SR B A R sl 7 45D

EEE

2.1

DN150RENTE 2

Eal

2.2

DN150B Ji H 7K 8

=]

30

2.3

LR =P SE NTE

TEME

5.00%

N

N

BHh

7.75%




Fe Liimbt TI2E 8%

x5
' TREE 2R A AR LA i B o & i O
BEIUERS . InE TR
- L5 R B LA
1 it 1A g m*
= oAl A% % 1.50




MERIPIIEERR

TAEEL Y A4 7

L

=
e

B O

AN
=

it o

W frip T2

FERY I B 15 e

[ K PR 4 b 2

il i

EAISE

7R i ib sl

PEAEIZAT 2 (K)

T3

1]

N LRI

Jiti TN B3 A efer &

10




IKERFILEFRR

x7
Fr5 TTHREBL B FH AR LA s A (o) it O
i s
B TREEE
- BERBIREHBR
1 b S RE hm” 0.01
= HBEUK TRBERX
1 b S RE hm” 0.35
= T A = TR IR X
1 T+ PR hm* 0.01
2 xEME m’ 30. 00
3 F LA n’ 30. 00
11} i T B B v X
1 PR hm* 0. 05
2 e m’ 100. 00
3 FLmE n’ 100. 00
BES YR
- MK TRBEX
g (5 A 50ke) hm® 0.35
= HE T A = TR R X
g (5 A 50ke) hm® 0.01
= T T R B Ve X
M (5 A 50ke) hm® 0. 05
B e
- I i By 37 AR
(—) MK TRBEX
1 % H P m” 200. 00
(=) WA =R R X
1 % P m” 200. 00
= Al TR % 1. 00




